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MANAGEMENT (DWM) 
Term-End Examination 
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BNRI-103 : SOIL AND WATER CONSERVATION 

Time : 2 Hours     Maximum Marks : 50 

Note :  (i)  Attempt any five questions. 

 (ii) All questions carry equal marks. 

 (iii) Use of calculator is permitted.  

1. (a) Enumerate the major causes of soil 
erosion. 5 

(b) Define water erosion. List different forms 
of water erosion.  2 + 3 

2. (a) Describe the major benefits of a good 
vegetative cover with respect to soil 
conservation. 5 

(b) Calculate the erosivity of rainfall storm 
having 4 cm/hr average rainfall intensity 
and 6 cm rainfall depth. The maximum 
30 minutes rainfall intensity is 4 cm/hr.  5 
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3. (a) What is wind erosion ? Explain its process 
with the help of neat diagram.  2 + 3 

(b) Discuss the role of soil surface roughness 
and vegetative cover on wind erosion.  2 + 3 

4. (a) What is Mulching ? Write its advantages.  

2 + 3 

(b) What is strip cropping ? Explain, how is it 
laid to control water erosion.  3 + 2 

5. (a) What is Diversion Drain ? Write its 
different functions.  2 + 3 

(b) What are temporary structures used to 
control the soil erosion ? Write their 
advantages over permanent structures.  

2 + 3 

6. (a) What do you understand by in-situ water 
harvesting ? List any four in-situ water 
harvesting techniques.  1 + 4 

(b) What is Percolation Pond ? Describe its 
purpose.  2 + 3 

7. (a) Explain the basic concepts of artificial 
groundwater recharge. 5 
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(b) Define runoff coefficient. Calculate the 
amount of runoff from a 100 ha. watershed 
having 30 ha. green area and 70 ha. base 
ground. The rainfall depth during rainfall 
event is 25 mm. Assume necessary data.  

2 + 3 

8. Write short notes on any four of the following : 
4 × 2.5 = 10 

(i) Conservation practice factor  
(ii) Chute spillway  
(iii) Retaining wall  
(iv) Conservation bench terracing  
(v) Aquifer  
(vi) Gabion structure   
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      BNRI-103 

tylaHkj izcU/u esa fMIyksek 

(Mh- MCY;w- ,e-) 

l=kkar ijh{kk 

fnlEcj] 2020 
ch-,u-vkj-vkbZ--103 % e`nk vkSj ty laj{k.k 

le; % 2 ?k.Vs     vf/dre vad % 50 

 uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

 (iii) dSydqysVj dk iz;ksx dj ldrs gSaA  

1- (d)  e`nk vijnu ds izeq[k dkj.kksa dk mYys[k 

dhft,A 5 

([k)  ty vijnu dks ifjHkkf"kr dhft,A ty 

vijnu ds fofHkUu :iksa dh lwph rS;kj 

dhft,A  2 $ 3 

2- (d)  e`nk laj{k.k ds lanHkZ eas ,d vPNh okuLifrd 

ijr ds izeq[k ykHkksa dk o.kZu dhft,A 5 
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([k)  4 lseh-@?kaVk o"kkZ dh rhozrk vkSj 6 lseh- o"kkZ 

dh yackbZ okyh o"kkZ dh ckSNkj dh ty 

vijnu {kerk dh x.kuk dhft,A vf/dre 

30 feuV o"kkZ dh rhozrk 4 lseh-@?kaVk gSA 5 

3- (d)  ok;q vijnu D;k gS\ LoPN vkjs[k dh lgk;rk 

ls bldh izfØ;k dh O;k[;k dhft,A 2 $ 3 

([k)  ok;q vijnu ij e`nk lrg ds [kqjnjsiu vkSj 

okuLifrd iQSyko dh Hkwfedk dh ppkZ 

dhft,A  2 $ 3 

4- (d)  iyokj (Mulching) D;k gS\ blds ykHk 

fyf[k,A 2 $ 3 

([k)  ifÍ;ksa eas iQly mxkuk D;k gS\ ty vijnu 

dks fu;af=kr djus ds fy, bUgsa fdl izdkj 

cuk;k tkrk gS] O;k[;k dhft,A  3 $ 2 

5- (d)  foiFku ukyk D;k gS\ blds fofHkUu dk;Z 

fyf[k,A 2 $ 3 

([k)  e`nk vijnu dks fu;af=kr djus ds fy, bLrseky 

dh tkus okyh vLFkk;h lajpuk,¡ D;k gSa\ LFkk;h 

lajpukvksa dh rqyuk esa buds ykHk fyf[k,A 

2 + 3 
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6- (d)  Lo&LFkkus ty laxzg.k ls vki D;k le>rs gSa\ 

fdUgha p kj Lo&LFkkus ty laxzg.k rduhdksa dh 

lwph rS;kj dhft,A 1 $ 4 

([k)  fu{kkyu dqaM D;k gS\ blds mís';ksa dk o.kZu 

dhft,A  2 $ 3 

7- (d)  d`f=ke Hkwty iquHkZj.k dh ewy ladYiukvksa dh 

O;k[;k dhft,A  5 

([k)  viizokg xq.kkad dks ifjHkkf"kr dhft,A 

30 gsDVs;j gfjr {ks=k vkSj 70 gsDVs;j [kkyh 

{ks=k vFkkZr~ dqy 100 gsDVs;j tylaHkj dh 

viizokg ek=kk dh x.kuk dhft,A ,d o"kkZ ds 

nkSjku dqy 25 feeh- o"kkZ gqbZ gSA vko';d 

vk¡dM+s eku yhft,A 2 $ 3 

8- fuEufyf[kr eas ls fdUgha p kj ij laf{kIr fVIif.k;k¡ 
fyf[k, %   4 × 2.5 = 10  

(i) laj{k.k fØ;k ?kVd 

(ii) D;wV fLiyos 

(iii) vojks/u nhokj 

(iv) laj{k.k lh<+hnkj [ksr 

(v) tyHkj 

(vi) xSfc;u lajpuk 
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